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60 1] 238¢ Il ffi /£ 2 CN R g )14
10 7] 2374 )1l + %2 G = )15,
8[ 5] 1bEMZARTX2 (E i H)15.
m)

(17#8] (  -3.9

108] 92% v 3 &2 (s » & 1)14.
20 2] 2404 J %8 2 Cor JE — ") 15.
30 3] 565%h M A A+ 2 (& - F#+)15.
41 4] 5361 JII #5 3% 2 (RrfETH-FiE) 15,
SL 1165140 & 3 gn2 (B £ 5915,
6L 7] 479k ' B2 (FriRkiaes )18,
70 5] 528t& & #j AP 2 CHELrh-5E) 16.

18
65
16
17
95
09
10
29

33
58
69
88
97
98
03
11

92
11
20
22
57
59
63

[ 6] 128fT &R O 7z 2 (& £ RL& 1) Ri5

[194] (  -3.1 m)

10 3] 1867 M /4 2% 2 (AR LEER$) 14,
2[00 1] 29726 H @2 8 & )14
3[ 8] 5551\ J £ £ 2 (F L ApuH)15.
41 2] 4917k A+ 0 & 2 (FriRka ks ) 15.
5071 b& i Em2GE A H)Ib
6[ 4] 396k (L 2 F2 (Il & )15
70 6] 161K JIl 2= 22 JllQ EFHAH)15.
8[ 5] 242/ frHERE 2 Gt 2 — ) 15.

[21%8] ¢  -3.8 m)

10 5] 353/ o w& &2 (Rli=rhsRkEd) 14.
20 8] 472k f& 2 (] B U )14,
30 2] 469% jk M & 2 (F] B U )14,
41 4] T03E £ O A 2 (CAfRBE H)15.
50 7] 560/2 It5 [ #& 2 (& RRHET)15.
60 3] 4691 & 5 3% 2 (FriRia i )15,
T0 11 307F* % St & 2 Oy 2 = ) 16.
8L 6] 13188 &+ & W2 CGor & 17

67
98
07
45
52
58
61
13

61
12
19
04
49
15
68
07

[14#8] (  -2.1 m)
10 5] 157H #h & a2 2 (F1 88 — ") 14.32
2[ 8] 484F@ 1% 2 A2 (FriRk A kg ) 14.79
3[ 1] 180 jik ¥ # 2 (AR LBERH) 14,80
40 2] 74178 ik 2 4 2 (N 1A JE ) 14,92
5[0 4] 252/ #k & 2 (FEL+H-%E)15.10
6 7] 204%k (L EL2 CGEF o . H1)15.12
10 6] 243)11% = = A2 CGgr 8 — t1)15.80
[ 3] 8334& i #L Mg 2 (V4 ul CFLh) Ri5
[1648] ( -2.8 m)
101] 81 B # %2 (# » & 1)14.60
2[ 5] 182 1B 2 (AR E#EERY)14.69
3[ 7] 309%7% je HEm2 Cor & = H)14.75
41 8] 162.F 8 % 2 (JIl0L&EAT)14.93
5[ 6]1068H JH-2=RL4E 2 (Il Bk #g 41) 15. 08
6 3] 702 & (L1 3£ #k 2 ONR#k4EF)15.36
T[ 2] 428wk A 7= 2 (Il D fEZ H)15. 55
8[ 4110615 ik 2K BL2 (JIlndtH-#%)15. 71

(18%8] (  -3.2 m)
1[0 3] 366% [l &2 ({ &2 = #)14.71
20 6] 369= # fe2 (F B = 11)15.04
3[ 7] 616/ 1 222 GRS -KiE)16.13
41 4] 556 L)Y 2 (B ARs#T) 15. 25
5[ 11 167 R 7e 722 2 (B Rk 1) 15. 49
60 8] 40155 i mt % 2 CGor J& I 1) 15.52
TU 2] 1333 # A fn2 G &2 )16.02
[ 5] 127 & X2 G M P)RIG

[2048] (  -2.0 m)
1[ 51206448 Il B2+ 2 Ol g ) 15. 00
20 1165198 BB 2 (BF £ 28 15.25
3[ 3] 4854 #F M A& 2 (FriRk kg ) 15. 40
41 4] 4831 & L AL 2 (Frik ks H) 15. 51
5[ 2] 4250w k2 2 Ol 0 fE% H) 15,57
6[ 8] B21E R0 2 GEL Y -5 %) 16. 47
[ 6] 881 jk 3£ e 2 (K H W ) RH
[ 7] 2077/ A</7v2)-2 CGFF & — ) RiG
[22#8]) ( -2.1 m)
10 8] 468/ #& & Zx 2 (1 & 0 +#)15.01
2[ 1165185 JI| 52 k2 (B £ %52 15.16
3[ 3] 6238 - T = 2 (Bl -r-HlE) 15. 46
41 4] 3144k EH 2 (Fr FE = ) 15.64
5[ 5] 360/ j# £ Z= 2 (B HmlEd) 15, 71
6 6] 129w M 3% H 2 G&F JE )15, 81

102] 4= B E2GE A +H)15.88
(7] 2fbEbaV)—2CGE K P)xRG



[23%#H]) ( -3.1 m)
1021 324k 10 52 $5 2 (A WEEREF)14.13
2[ 6] 6198 Tk < 5 4 2 (Bli=d-FlE) 14. 82
3[ 1] 3124 A #HE2 B & = 1)16.05
47 4110687k W mH & 2 JlndeH-#¥%)16.16
50 7] 43088 & #£2 (JIIHTEFK H)16.45
6[ 5] 20355 A ALME 2 GO 2 — 1) 16. 46
70 3] 398K8 )il & B 2 (JIl & H)16.47
[ 8] 239tv=tALA7 2 G FE — ) R
[25%#8) (  -3.6 m)
1[ 5] 6244 JFZs 2 % 2 (Fl=T JUtlER) 15. 03
2[ 8] 1837 # H 3£ 2 (AR LEERH)15. 91
3[ 1] 234% [ 75 PR 2 (AW L#ER ) 16. 04
40 3] 6144k H 52 (GHFEN-BiE)16.24
5[ 4] 488tk A #v ¥ 2 (AT iR k5 ) 16. 50
6[ 2] 6181 JF 1& # 2 (- HlER) 16. 63
[ 6] 70485 K {”ﬂi 2 O\ B ) &5
[ 7] 620/ %5 # 2 2 (EE=H HRED) KI5

E2 L—X(248)

[1#8] ( 4.4 m)

103] TNMEEH Y X2 (NHEEA F)13.54
2[ 4] 489FEz V= ry—2 (FRIR B H)13. 84
3[ 8] I AZTIE 2 (Fr FE = H1)13.98
A 7] T738B[ &5 & B 2 CNH A JE A1) 13. 99
5[ 5] 245%% %% /)N g2 GFr 2 — 1) 14.00
6[ 6] 3581 A /N F2 G5 W = H)14.03
70 2165138 A 96 H 2 (B £  5)14.29
8[ 1] 8o = 2 (B » B 1)14.30

D AN
e 3

T MM ESEHY =2 (NHBAT)13.54 -
2 324k 1l 52 gn 2 (RAWEAET)13.76 -
3 1033 ik #8 K 2 (FrRVhFRT)13.79 -
412173 B P2 Cor 2 — 11)13.82 -

N
_L_L_L_b

5 489 iz y=hy-2 (FriRm kG H)13.
6 274% [ H w2 @ B )13
T S13HAZEMRE 2 CBr 2 = 1) 13.
8 738 A B 2 CARmA ) 13.

hEELF 3FE100m

(1% ¢ -2.7 m)
10 312415110 s &5 + 3 (=

84 4 4
94 -3.1
98 -4.4
99 -4.4

s 11)12.86

20 8] 63 MW 23 (lEdh-HE)13.13
3[ 4] 403FAEH )53 Cdr JFE DU H1)13. 26
41 6] 601<F [= #E3 (Bipy'E £9)13.28

5[ 1] 6043E f=

&3 (' ) 13.39

6[ 5] 250°% J£ # A 3 Cgr JE — t1)13.39
70 7] 4064% I A 323 CGFr J& U ) 13.44
8[ 2]12058k JIl B 323 Cor B — H)13.44

[24%8) (  -3.2 m)
10 1] 18477 v %0 % 2 (AR ERERH)15. 47
2[ 61651788 1 = a2 (B F 32 15.51
3[ 8] 622% & ¥ 4E 2 (- #xlER) 16. 09
41 21273557 0 ¢ A 2 (& R )16.39
50 5] 426/ #F me 32 (Il D7EZE H)16. 39
6[ 7] 400 I #2352 2 G JE U 1) 16. 43
70 4] 206 & %F & &% 2 CGor B — ) 16.53
[ 3] 131Kk % #H2(BLARET)RE
[2648) ( -1.1 m)
1[ 2] 205%fi+A& 005 2 CGor 8 — H1)15.29
20 11 157+ & 32 A8 2 (Pl 3 3k ) 15. 66
30 7] 15455 jk 7 WL 2 (Fe il ¥ 3 =) 15. 75
47 8] 15340 gk BB #% 2 (e 1Ly Ui 3 =) 15. 88
50 5] 613K £ ¥ & 2 GHJE/N-£15)16. 22
6[ 4] 185FAAR N2 7= 2 CAIE LJER ) 16. 24
10 6] 202w A 2 Cor e — 1) 16. 93
[ 3] 6261+ 2k 2& & 2 (GEM=rhHAlER) Ri5

[248]) ( -3.1 m)

10 4] 324K 1l 3 ¢35 2 GRAWEHEF)13.76
2[ 3] 103:= ik & A& 2 FrR/NFHEH)13.79
3L 1121738 & P2 CGor | — H)13.82

40 5] 274 [ B owl2 (] & )13.94
S5C2] 24k~ &2 & 1) 14.03

6 6] 187 EFEEIEH] 2 (AR EFER 1) 14. 04
707] 3643 E X2 (5 & = H)14.05
8[ 8] B24KHEM/INTE 2 GBr K L H)14.36

F1L—XA3E2 1M LL—X)

[2#8] (  -3.3 m)
10 2] 3214 & 5 53 (G B = #)12.79
20 1] 1707 A F %3 (F &5 — H)13.26
3[ 5] 605%T 7 M % 3 (B E 1-+)13.82
4[ 6] 70541 & i fE3 (&5 54%)13.85
5[ 8]1901H o m& E 3 (Fn 3¢ = 1)14.03
6[ 411204 F42 3 CoF . — ) 14.18
70 3] 23135 #b 2 A< 3 Gor & — 1) 14.19
[ 7] 230K #& Jn & 3 (Br 2 — o) Ri5



(3%8] ( -3.0
1[0 2]6509/) ﬁ
20 5] 1705} P 3
3[ 8] 527/W
41 TI12124 i 3
5[0 4] 1 X
60 11 2285 K4
70 6] 23415 T f

[ 3] 166%% H

(5481 ( -3.7
10 1] 232/ # K i Cr 2 — H)14.29
2[ 7] 238% B H 3 OK & M H1)14.48
3[ 2] 11731 N 1% Olo B ARH) 14,52
40 811077TFi'E &< 5 3 (K J #H 1) 14.55
5[ 3] 2283 A #h v 3 G . — H1)14.80
6[ 6] 213 J& 3 Cor JE — +#)14.87
7051 2376 & #3 (Il 1 78 H)14.91
[ 4] 435K JF B #i3 (I O EF H) Ri5H
[7#8]) ( -2.5 m)
10 2] 51000 % # ¥ 3 (8 LRBEH) 14. 40
2[ 3] 13 #= k3 (B H1)14.55
3[ 7] 512E W H 1k 3 (FLEME)14.66
4 5] 1624 % b5 323 (B8 » 5% H) 14.68
5[ 6] 30% & #R3 (FriRmEks-#%%)14. 83
6 1] 429% A 2% )53 (Il BEFK $)14. 84
7081 24%F )11 #& 3 (Il & 7 +#)14.95
[ 4] ATME H# R 3 (AR M H) ki
[948] ( 4.2 m)
10 6] 6021 i & & 3 CGErFEAS -85 E) 14. 65
2[ 1] 528K W £ 33 (F-RMHES)14. 68
3[ 8] 370/ % = FH 3 (FTiR Eihind)15.06
A[ 2] 223% g T %k 3 Cor & — 1) 15.06
5[ 3] 521N (b Fn & 3 (B LRsWEH) 15,12
6[ 4] 3027F (b # 23 G . = H1)15.20
T 7] 32056 H %5 ZE 3 (EA WK/ H)15. 41
[ 5] 61HEZRS723 (ol -#%E) ki
[11#8]) ( -2.1 m)
10 6] 729% M % w:3 (AR mJEH)14.53
2[ 1] 405[F jf¥ M 853 C#r & PO ) 14. 61
3[ 5]1203 L W £ me3 Cor JE — #)14.63
AL 4]12707% R & £ 3 (2 J/ F1)14.73
5L 7] 138K H =3 (ARmMEH)14.87
6[ 8] 610715 % X o 3 (Bl k) 14. 95
70 3] 7305] i}ﬁ A 223 (AR A H)15.09
[ 2]1166L # = & 3 (IO EFHFAT) KI5

FH £ %)13.59
Ol EEFARH)13. 65
(8 L R psH) 13, 71
G 2 — +)13.86
(TR -5 ) 14. 15
O m v H)14.32
G 2 — H)14. 61
oo EFARH) K5

Nmﬁ%wﬁﬁ‘
FRE3 wHEHERENEI

W W w

[448] ( -4.3 m)
10 2] 84985 A 2 P 3 (V5 X ST HL ) 13. 93
20 6] 11703 /K £ 223 (Jlln EHEAH)14.03
3[ 8] 7367 4R BE3 (AR mE ) 14. 22
40 5] 239%% g #E Jh3 OK JE B ) 14.27
50 7] 16482 J % 3 3 (88 » S k) 14. 31
6 1] 3045 H/AEEE S Cor e = H)14.37
10 3] 707%c % 23 (E¥J521%)14.38
8[ 41121638 M H=Cod> 3 Gt JFE — 1) 14. 97
[6#8] (  -2.1 m)
1[ 516508/ A HAnE 3 (B T %5¢)13.82
2[ 2] 520 B Kk B 3 (FLRAMEH)13.86
3[ 6] 322= @ %= #F3 Cor &2 = 1)13.91
41 8] 1057 K~ & 3 (ALl H1)13.98
5[0 3] 61075 7k #8 1 3 GHJEAS-BiE)14.10
6 4]11206)11 IeF &2 & 3 Cor B2 — #1)14.12
70 1165124 H FE3 (BF £ 5%)14.59
[ 7]1207%F <% B 323 GFr 2 — F) RiH

[8#H] ( -1.8 m)

10 1] 2214& F& 4 323 (B 2 — 1) 14. 54
20 7] 62 fE A U5 3 Olpded-5E) 14, 62
3[ 511209} = Wy #E 3 CGor )& — 1) 14. 81

41 2]1902FE 77 B & 3 (Fn ot = ) 14.88
5[ 411210/ 1l 2= J5 3 Chr . — 1) 14.95
60 3] 300AK 4 % 163 G FE = 11)14.97

10 6J1211/hHEF D& 3 CGor B — ) 15.05
8[ 8]6S1MFHEHSX3 (HF £ 28)15.13

[10#8) (  -3.1 m)

105] 1804 H 0 &3 (1 & — )14.59
2[ 3] 31T lg % AR 3 QR WEFEF)14.83
3[ 1] 609fx 7k £ #E 3 CHEEN-£E)14. 91
40 7] 3=~ % 3 (FrR LiinH)14.98
5[0 6] 914 ji& & ¥ 3 (Fn ¢ = H1)15.02
6[ 4] 6047 € # 323 CGHEEN-#i£)15.07
70 2] 422/ (1 % 3 (Il B ESK $1)15. 42

[ 8] 70640 R HY 3 (B8 1 22k7) Ki5
[12,%H] ( 0.0 m)

1[ 4] 280315%3@@72@ 3 (FH Al 14. 36
2[ 8] 843#F M % Jv 3 (FEEtCHEE 1) 14.79
3[ 1] 456H %ﬂmaB(}t i) 14. 88
41 2] 608/ B H 2F 3 CHIEEN-Hr£)14.96
5[ 3] 4403 &+ £ 1€ 3 (Il D {EZ H1)15.02
6 71121345 uh ¥ AL 3 CGor B2 — H1)15.25

[ 5] 303R9MRE tE 3 G e = ) RiG

[ 6] 222 & B & 3 G £ — ) RiH



[13#8] (  -3.5 m)

10 1] 170 R # ¥ 3 (E+ A E9)13.70
2[ 5] 607A [H 2 AL 3 (B RnlER) 14. 73
3[ 7] A 2 3 (B fm H)15.34
A4[ 4] 25/ ® A A3 (B hn H)15.41
50 3] 732# " H =3 (Al mEH)15.75
6[ 6] 9315 >k & g3 (AMHE4eFH)15.95
70 8] 354k T #r £33 (BE=r-ixlEd) 16. 11

8[ 2] 1788 JII 223 (JIlA L&EAF)16.63
o L—X(248)
[1#H] ( 50 m)

103] 32148 & H 3 Cor 2 = )12.93
20 41241510 Iy A% 13 (= #&F  )13.26
3L 5] 63+ Mt &3 Ul B 4k §1)13.39
AL 71 1707 + A £ %23 (@] 8 — $)13.52
5[ 6] 403 AL H )53 Cir & U 1) 13. 61
60 1] 60438 = F3 (BHE -9)13.78
70 2] 250°F R % A 3 Cir 2 — 11)13. 84

[ 8] 6015F [F 3 (BnE Lh) Rig

4> O
s [

1 3214% H BE =3 Cfr & = #)12.93 -5.
2241511 IR A5 3 (= & 11)13.26 -5.
3 63+t W 23 Ul [dE $1)13.39 -5.
4 1707 ¢+ A% %3 (§] & — 11)13.52 -5.
5 406 £ S A% 923 Cfr % 14 $1)13.54 -3.
6 403%?!25@)33 Cr JA2 4 1) 13. 61 -5.
71205 8% JIT B3 33 G g — $1)13.72 -3.
8 6045 = @3 (B 1) 13.78 -5,

OO‘IOU‘IOOOO

(248]
1[ 3]

( -3.5 m)
4064% P Hx 523 Cr J# P9 +)13.54
2[ 4112058k )i k5 3% 3 Cor e — H1)13.72
A3 (B E 5)13.84

3[ 516509/~ & #

4 8]
5[ 7]
6[ 6]

70 2165081 /K H #n

[ 1]

527H B
170K R #&

we 3 (8 LR BM)13. 99
S
1705+ 3 & 7%
g
B

3
3

3

3

3 (& £ HH)14.02
3 Ol EFAH)14.17
3 E O R)14.34
3

605 = i (& + ) Ri5

hEELF 200m E1L—XR(18% 1 LL—X)

[1#8]) ( +1.7 m)

10 5] 3214 B &= =3 Gor & =
2[ 1] 1707 ¢+ A F % 3 (8 2 — H)26.01
3[ 8112051k )II B 33 CGor & — +1)26. 60
47 3] 8UISeANE Y 3 (= 5 H H)27.05
50 6] 63L H { B3 (nnde-45%)217. 23
60 7] 2285 K B3 (Il 1 76 )28.09

1) 25. 38

10 2] V‘#’f +3 (Il B 7 H)28.28
[ 4] 250°F 2 % H 3 (5 & — ) xRiG
[3#8] (  +2.4 m)

1[ 7]
2[0 1]
3[ 6]
41 3]
5[ 4]
6[ 2]
10 8]
[ 5]

273407 27y % 3 (AT R v o 1) 27. 58
22546 ) #j J 3 (FrRERT-&E) 27. 62
528%] M % P 3 (&L RHET)28.07

THe g 4 %3 (BL Jm 1)28.08

1 £ 2 523 (FrikmlE-%%)28. 10
528t% M ® {3 (B W )28.73
2281 A Aih 3 OB & . 1) 29. 26
4864% A& 2 3 (7 B R 15

(28]
1[ 5]

( +1.2 m)
ABIFEx Y= vy— 2 (BT IR M BG H) 27. 24

20 111901H w me B3 (Fn ot = 11)27. 34

3[ 4]
41 2]
5[ 3]
6 7]
[ 6]
[ 8]
[4%8]
1[ 6]
2[ 7]
3[ 8]
41 4]
5[ 1]
6 2]
10 3]
8[ 5]

27 M e il 3 (TREEE-# ) 27. 45
6026k A PR 35 3 (B & + 1) 27. 67
23155 #h 3 A3 CGFr - H)27.93

231 A M3 I BovE )29 41
230K 4% 0 &5 3 CGor ) Ri5
1666% M 22 K 3 (0 EFAH) KRG
( +2.7 m)

5114 3 16 3% 3 (MR -45%)27. 22

6/\ & £ ME3(E I H)27.27
245% By /N Mg 2 CBr B H) 27. 41
NI EAEL Ty 2 (BB vh 22 4%) 27. 52

1Tl 2 A3 (1B e ) 28. 38
41887 M Wi %3 (fh 578 1) 28. 42
41670 )1l 2 & 2 (RAMKET)28. 64
122/ % % & 2 (BB 28.75



[5%H] ( +3.5 m)

10 8] 492574 H R B 2 (FriR 1A 5 H) 27. 00
2[ 416509/ & # H 3 (B £ 5)27.09
30 11121758 & )2 Cor e — +)27.25
47 21 226(F % fy 2 (FARERW-HE)27.97
50 61120438 H-& £ 423 Cor FE —. +#)28.05
6[ 5] 821H EP B3 Ok H H)28.27
70 7] 300K 4 % 13 Cir B = +)28.68
8[ 3] 13 = ﬁ} k3 (B o) 28.69
[(7#8] (  +4.1 m)

103] 174/ & F #2 (B » %) 28. 31
2[ 6] 5205 % & H 3 (& LFLWsw)28. 38
3[ 4] 233K A BH F2 (A [ Bk K)28.70

41 8] 953 H Z £ 2 (AR &+H)29.08
5[ 1] 221k H = # 3 (FRERT -5%)29. 25
6[ 5] 179%F (L

1071 4915 18
8[ 2110618 £ &

[94R] (  +3.2
10 5] 1694 M /v 552 (§8 » 5% +)28. 05
2[ 1] AN P T 223 OA g ) 28. 54
3[ 8] 237F W #& 2F 2 (N M A% iR)28.55
4 4165081 /A HFn%E 3 (B £ 5%)28.56
5[ 6] 2214 j# #v £ 3 Cor B — 1) 28.82
6 7] 833W M & 3 (B W +H)29.26
70 3] 226) B Jh #2 3 CGor JE — 1) 29. 31
8[ 2] 174)I1 b B &2 JIla E#HAH)29. 36

[1148] (.  +1.2 m)
1[ 5] 358#& A /N & 2 (= ﬁ? ) 27. 95
2[ 6] 362/ FA2 B & = 1)28.73
3[ 2] 832k A A3 (B & )29.48
A[ 3] 30975 ik #EMm 2 Cor 2 = 1)29.78
50 7] 170K Y& & #F 2 (88 » k) 29. 98
6 1] 93581 T~ #& M2 (Fn ¢ = 1)30.38
70 8] 819 ~x KEX3 Ok H  H)31.08
[ 4]1207%F <% HF %3 G E — F)RBG

[13#8]) ( +1.5 m)
1[ 4]65152IFF H % 2 (BF £ 2%)28.83
2[ 1727395 M Fn &2 (B B +1)29.26
3[ 5] 274% T Jy #E 3 (FriRk o) 29. 57
40 6] 2972 H @2 Gl & )29.84
5[ 3] 416H 1 & 93 (B8~ & 74 1) 29. 93
6[ 211203111 M £ w3 CGor 2 — 1) 30.07
10 71140138 jE 252 (5 B 78 ) 30. 14
[ 8] 307(HjE e HE 2 G /e = ) RiG

Ml

% %2 (A L#EAR)29. 35
Jo #2(F #1)29. 96
B 3 (1B g ) 30. 20

3,

W

[6£8] ( +2.4 m)

10 5] 244 i F8 F2 (32 n +)28.34
2[ 3] 5138 K 3 (FEL+T-HE)28.50
3[ 8] 5094 I &< & 2 (TR - k) 28. 95
A0 1] 1765 M BE & 2 Jiln EFEAH)29. 28
50 2] 23455 T & 33 CGor 2 — 1)29. 42
6[ 611000 & & k2 (K +)29.61
70 7] 5308 & 28 ME3 (AR #  1)29.87
8[ 4]1004H J5 45 Jh 2 (K #1)30.20

[8#8] ( +3.3 m)
10 5] 93148 W5 & =2 (Fo & = H)27.45
20 1] 240%& s~ fE 2 CA [ Bk ) 28. 60
3[ 8] 236k = 1B 2FE 2 C¥r . — H1)28.60
A1 2] 1651 AF] 2 2 (Il EFAH)29. 07
5031 238 (b #2 (& I #)29.14
6[ 6] 1488 K %B P 3 O 1L o e H) 30. 09
70 71 163& K % £ 2 Jlp EFEAH)30. 11
[ 4] 2463 ¢ 2 -2 G 2 — ) Rim

[104H]) ( +2.0 m)
106] 292 JIl M8 322 (@ & )28.95
20 1] 3195 % M ye2 G & = 1)29.04
3[ 5] 51211 A % #L 2 (TR T %) 29. 09
40 8] 476/ 1 E ME2 (F M) 29. 77
503] 243 )11 758 +3 (Il @ v #)30. 31
6 4] 4904t Ji % e 2 (F ) 30. 74
[ 2] 503/)s #h 7 & 3 (FEERT - K40 RIG
[ 7] 4TS H R 3 (Frikmbs ) Ris
[1248) (  +1.7 m)
10 5] 201/ B & 42 Gir & — 1) 28.91
203] 4218 1 T F2 B EFK $)29.72
3[ 8] 162k # % (£ 2 (JIlp EHEAH)I0. 31
41 6] 4340 18 #1 43 (Il B EFK $1)30. 35
5[0 4] 46585 563 (F & 91)30.49
6 71 1714% !Jh o3 (81 B2 — H1)30.59
70 211166k # = & 3 (JIlQ EHFAH)30.93
8[ 1] 161K }ll % #2 Ja E#FAS)31.53

(14%8] ¢ +0.7 m)

10 4] 6023 i A & 3 CRTEN-457%)28. 05
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